£
3
.}:
¥
4

12

Which expression is equal to {1247 %7

A.

.

127°
127¢
12°
12°

What is 647

Which is equal to V817

A.
B.
C.
D

Which is 23,578,000 written in scientific

16

6

7
8
9

notation?

A.
B.
C.
D

2.3578 x 10°
23.578 x 10°
2.3578 x 107
23.578 x 10/

5.  Whichisthe quotient of

A.
B
C.
D

.

6. Belowisthe graph of 2 line.

3.8 x10°

3.8 x 10"

3.8 x 10"
3.8x 10"

4.18 X 10°,
Llgx 10
%10

o .
A )
N <168 B ~f & Sy - G 1 éﬂw x
pd L 1T
> 3‘ B
Which is the slope of the line?
1
A, 5
3
B. 7
3
C. 3
D. 3
Go On)b



7. Nadig has a savings account that eams
interest at a rate of $2.75 every week.
Which graph shows Nadia's earnings

over time?

A.

Duplicating any part of this book is prohibited by lenwy,

Savings (in dollars) Savings (in dollars) Savings {in doliars}

Savings {in dollars)

10.00

8.00 |

7.00
6.00

200
1.00

1G.00
.00

§.06 b

700
6.00
.00
4.00
3.00
2.00

1.00 |

Nadia’s Savings

5.00
4.00 -
3.00 ¢

e

O {5 3458676810

Kumber of Weeks

Nadia’s Savings

| i
| ]

8 { 2345678810

Number of Weeks

Nadia's Savings

G 12345676810

10.00 Fr

8.00
B.00
7.60
600
5.00

400 1

3.00
2.00

100§

4

Number of Weeks

Nadia's Savings

o

e

1 N

o

1 23 4567 8 910
Number of Weeks

10.

Sunil wants to find a side length

of a cube with a volume of 27 cubic units.
To find the length of one side, Sunil sets
up the following eguation: g = 27
Which equation betow shows the correct

value of 57
A s=v27
B. s= V3
C. s=3
D. 5";: 27

What is the solution to 3x + 1 = 4x — 67

A.
B.

o N

-

During a presertation at the

Rattelie Planetarium, Magdalena learned
that the average distance between

Earth and the sun is approximately

9.3 x 10" miles. What is the average
distance between Earth and the sun

x=5
x =0
x=7
x =8

in standard form?

A.
B.

w

B.

93,000 miles
930,000 miles
9,300,000 miles
93,000,000 miles

Go Onb



12.

The eguations y = 3x + 4 and y=x—3
are graphed below.

¥
T T
| oy =3x+ 4
WEyi - T
L. ":""[
af
y=x-3
¥ Ii T
e i e e T AL 6 7 iR
- .
] :fi_
A
A5 164 .
H

What is the solution to this system of linear

equations?

A. (-3.5 -6.5)
B. (-35 6.5
C. (3.5 -6.5)
D. (3.5 6.5)

Neptune is one of the targer planets,

with a mass of approximately 1 X 10%° kg.
Mercury is the smallest planet, with a mass
thatis approximately 3 x 10% kg. About

how many times larger than Mercury is
Neptune?

A. 333
B. 3,333
C. 33,333
D. 333,333

13.

14.

15.

Solve forx: —3(2x +1) + 3x = 6x + 3

-
B. —%
c. i
D. £

Which is the best way to find the
solution te the following system of linear
equations?

Ix—2y=18
5x + 2y =14

A. Substitution, because you can easily
find the value of x.

B. Substitution, because you can easily
find the value of y.

C. Elimination, because —2yand 2y are
opposites,

D. Elimination, because 3x and 5x are
oppesites.

—

Which term is equivalent to =7

1
A‘§"2_

Z

Go Onb
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16.

17.

18.

In 2012, with approximately 8.1 X 10°
pecple, New York City Is the most
nopulous city in the United States. Los
Angeles, California, is the second most
populous city in the United States, with
about 3.8 X 10° people. Approximately,
what is the population of the two most
populous cities in the United States
combined?

A 1x0°
B. 1.9x10°
C. 119x 10
D. 11.9x 10

What is the solution to
x+ 11+ 2x=7+4+ 3x+ 47

A. x=0
B, x=6
C. nosclution

D. infinitely many solutions

Loretta calculated the distance she drove
from home to her grandmother’s house
as 5.11 % 10° e¢m. The distance from
Loretta’s home to her aunt’s house is

5.3 X 107 em. Which sentence is correct?

A. Loretiz lives closerto her
grandmother than to her aunt.

B. Llorettaiives closérto heraunt than
to her grandmother.

C. loretia lives farther away from her
grandmother than from her aunt.

D. Loretta fives the same distance from
her aunt and from her grandmother.

19. Tarigq graphed a proportion on the plane
below,

B
i

\

oph o s dh ghowt o

Ao

bbb b

aé?é'
|
|

3

What are the equation and the y-intercept
of the proportion?

A. y=x103
B. y=x+ 30 3)
C. y=4x(00

D. y= w%)(; 0,0

Go On¥
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Aidan earned a total of $117 in one week.
His babysitting job pays him $15 per hour.
His after-school job at a barber shop pays
him $9 per hour. He worked a total of

9 hours that week. The systemn of linear
eqguations represents this situation, where x
represents the number of hours Aidan spent
babysitting and y represents the number of
hours he worked at the barber shop.

Xx+y=9
1hx + 9y =117

How many hours did Aidan work at
each job?

A. 3 hours babysitting, 6 hours at the
barber shop

B. 6 hours babysitting, 3 hours at the
barber shop

C. S hours babysitting, 15 hours at the
barber shop

D. 15 hours babysitting, 9 hours at the
barber shop

What is the solution to
3.25x+ 1 —4.25x = =27

A. -30
B. 04
C. 30
D. 490

22.

23.

Ms. Prevost wrote a system of linear
equations on the board and asked her
students how many sclutions it had.

y=3x+4

y=3x+7

Abby said it had no solution because the
two lines are paraliel and therefore cannot
intersect. lleana said it had no solution
because 3x — y cannot equal both —4
and —7. Jun said there were infinitely many
solutions because they are the same line.

Who is correct?
A. Abby

B. ileana

C. Jun

D. both Abby and lieana

A micrometer is equal to 1.0 X 10™° meters.
Which of the following would best be
measured in micrometers?

A. the distance between two planets
B. the height of a coffee table

C. thelength ofa pencil
D

. the width of a strand of hair

Go On)»
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24. 323 tickets were sold at a school talent
show to both adulis and children.
The schoot earned $837 from these
sicket sales. Adult tickets cost $5 each
and children’s tickets cost $2 each.
Which system of linear equations
represents this situation?

A.

a+c=7
3230+ ¢ = B3/

a+c=323
20+ 5c= 837

a+c=323
S50 + Zc = 837

o+ o= 837
S5a+ 2c= 323

25. Which equation can be used to show the
siope of a fine with the points (— 2, 5)and

b, )7

A. mr—”iig
B. mr—;:é
c. m=13;
o, m“;fé

Go OnV



26. What are the slope and y-intercept of the fine y = 3 5x+ 87

27. Whatis the solution to the equation 2x + 5 = 6x — 57 Show your work.

i

h ilieatirg amy mort of fhic leebs io mesisibasd b - L

Go Onb
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A, Which penguin species has a faster maximum walking speed? Show your work,

B.

36

48

The distance that an emperor penguin can walk over a period of time is represented by the

equationd = 1.7{.

Approximately how fong would it take the fastest penguins from both species 1o walk

3 miles? Show your work.

Go Onb
19
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28. Below is a system of linear equations.

3x+ y= 27
=x+ 3y=1]

Use elimination to solve the system. Show all

your work and prove that YOUr answer is correct.

Go Onb
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30. Alsundromat selis two varieties of detergent: Sudsy’s and Super Clean. The :
packages of Sudsy’s detergent are shown in the table below. ;

~ Sudsy's Detergent

5 $3
10 $6
15 $o
20 $12

The cost of Super Clean detergent can be expressed by the equation y = 0.6x, where x is the
number of ounces and y is the total price.

Erika determined the unit rate of Sudsy'sto be % or $3 per ounce, and the unit rate of Super
Clean to be 0.6, or $0.60 per ounce. Erika then said that Sudsy's is the more expensive
detergent.

Why is Erika’s answer incorrect? Give the correct answer in your explanation.

21



